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oo ® B HE(Kg) HEOG =2 & R FHEE
1 1= ES el & 461, 160 1719 23,017,095 3.6 50
2 * ¥ ~ Y 446,192 16.6 1 2 68, 383, 633 10.6 153
3 |k ~ b 310, 813 1.5 1 18,947,729 12.3 254
4 = (A : A 233, 952 8.7 1 28, 509, 706 4.4 122
5 |[F A2 W L & 145, 529 5.4/ 5 33, 498, 185 5.2 230
6 s W 3 Y 117,357 4.41 6 31,787, 986 4.9 271
1 3 El 95, 964 3.6 3 36, 082, 854 5.6 376
8 < ~ ~ 89, 642 3.3 14 13,906, 770 2.2 155
9 (& < & (A 74,750 2.8 19 10, 038, 449 1.6 134
10 | UL 3 A 13,712 2.7 12 15, 665, 523 2.4 212
" E - < % 62, 442 2.3 4 34, 888, 139 5.4 559
12,/ = F % + 57,492 2.1 8 23,048, 798 3.6 401
13 | A A L & o1, 925 1.9 11 16,484,742 2.6 317
14 F 48,674 1.8 10 21,243, 489 3.3 436
15 | 7 AN (A % 28, 145 1.0 21 9,725, 454 1.5 346
6 F 5 1 A £ 5 27,352 1.0 13 13, 965, 952 2.2 511
17 | C E3 D 13 27,313 1.0 25 1,801, 233 1.2 286
18 Z ES 3 27,303 1.0 24 8,186, 957 1.3 300
19 | » ES 5 * 24,906 0.9 29 5,774,490 0.9 232
20 7 ooy a1y — 24, 562 0.9/ 18 10,067, 338 1.6 410
21 2 o F £ ¥ 22,421 0.8 217 6,811,597 1.1 304
22 | A 22, 343 0.8 36 3,070, 084 0.5 137
23 |1 ) 22,128 0.8/ 20 9,843, 238 1.5 445
24 L & C 17,610 0.7 117 10, 254, 096 1.6 982
2% £ L W f= It 14,763 0.5 15 13, 482, 268 2.1 913
26 7 A N T A R 10, 382 0.4 16 13,042, 588 2.0/ 1,256
21 F v vy A 10, 058 0.4 37 2,854,116 0.4 284
28 L & 5 M H 9,723 0.4 23 8,965, 652 1.4 922
29 | 2 A Iz < 9, 447 0.4 22 9,141,714 1.4 968
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(B 3)

o & B HE(Ke) HEOG & @ hE () FHEE
30 | #& o) = 9, 363 0.3 31 3, 631, 606 0.6 388
315 & 9,180 0.3 28 6,215,918 1.0 677
32 | )2 ) — 8,937 0.3 32 3,412,152 0.5 382
3 = &£ 3 AN 1,432 0.3 39 2,210, 095 0.4 305
34 & B B =X 6,519 0.2 41 2,183, 036 0.3 335
3% b [+ =3 6, 345 0.2 34 3,219,027 0.5 507
36 £ — A 5,262 0.2 30 5,463, 031 0.8/ 1,038
37 | A s 3,954 0.1 49 , 290, 448 0.2 326
3 A 2 I & 3,898 0.1 52 947,592 0.1 243
39 F (A = [+ 3,657 0.1 38 2,623,090 0.4 1
40 5 o F & 3 3,627 0.1 45 . 141, 339 0.3 480
41 | X 3 3, 468 0.1 26 1,245, 482 1.1 2,089
21& 5 % 52 2 L 3,350 0.1] 46 . 397,574 0.2 417
43 | < & Ly b 3,335 0.1 47 , 388, 491 0.2 416
4 | F 9 2 3,129 0.1 35 3, 144,960 0.5 1,005
4 'Hh U 7 3 T — 2,810 0.1 57 663, 917 0.1 236
46 = v 2 A &£ 5 2,554 0.1 40 2,200, 162 0.3 861
41 | % =) ES & 2,210 0.1 48 , 300, 461 0.2 573
48 | » A I 2,062 0.1 58 633, 747 0.1 307
49 n A - A 1,988 0.1 42 2,130, 030 0.3 1,07
0 | v A i+ A 1,975 0.1 43 . 800, 360 0.3 912
ot | & &£ 3 A 1,802 0.1 33 3, 280, 380 0.5 1,820
2 L » A F ( 1,634 0.1} 50 ,007, 435 0.2 617
53 | N t 1) 1,440 0.1} 51 999, 810 0.2 694
S hHh v b B X 1,383 0.1 59 600, 940 0.1 435
5 5 E 1,282 0.0/ 55 677,960 0.1 929
5% *» F o W 1 1,153 0.0 54 779,112 0.1 676
ol | % z 5 13 871 0.0/ 66 243,098 0.0 279
o8 Y 685 0.0/ 65 306, 763 0.0 448
59 | D [+ 13 677 0.0 64 332,942 0.1 492
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(B 3)

e

i 2 = HE(Ke) HEO T & 38 HE (%) T
60 | & ] 646 0.0 44 1,794,042 0.3, 2,771
61 | & A & 5 & W 556 0.0/ 69 169, 155 0.0 304
62 1= IF ()] - 460 0.0] 72 97,308 0.0 212
63 | T ¥ v L v b 456 0.0 60 584,172 0.1 1, 281
64 LL&ESHSLSL 316 0.0] 56 667,170 0.1 2,111
65 Y v Yal— 302 0.0/ 63 338, 126 0.1 1,120
66 I A [ K 3F 292 0.0 67 223, 560 0.0 766
67 | W b3 £ 282 0.0 62 340, 096 0.1 1, 206
68 D ES & o 233 0.0 73 85, 382 0.0 366
69 z 1= & 201 0.0 61 340, 459 0.1 1,694
70 A - i £ 149 0.0 53 865, 091 0.1 5, 806
1| L e 143 0.0/ 70 164, 506 0.0 1,150
2 El 3] 100 0.0 M 119, 880 0.0 1,199
13 1= ) D F 75 0.0 68 170, 845 0.0, 2,278
14 | bH ) [0 34 0.0 76 46, 440 0.0 1, 366
% T O A~ 4 ¥ 31 0.0, 74 65, 875 0.0/ 2,125
16 | B A E) 18 0.0/ 75 49,140 0.0 2,730
17 | bH = [0 1 0.0, 77 15,984 0.0, 2,283
18 | & 5 N B L 0 0.0 78 270 0.0 270
1 F O £ ¥ %8 3,949 0.1 5 373, 982 0.1 95
2 ZTOMEBEFEDOEME 2,940 0.1 2 1,422,618 0.2 484
3 T DM EEXSE 2,578 0.1 4 479, 660 0.1 186
4 T EDIE 1,946 0.1 1 1,747,776 0.3 898
5 ' o i B % #8 1,931 0.1 3 997, 423 0.2 517
6 = O f# B xE 487 0.0/ 6 305, 848 0.0 628
17 & o i R F % 11 0.0, 7 22,842 0.0, 2,077

g7 x H 2,692, 311 100.0 643, 108, 483 100.0 239

(R=)

e ) = HE(Kg) HEO ZH @ B LR (%) FHEE
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(BRX)

o & B HE(Ke) HEOG & @ hE () FHEE
[ L pa) 593, 854 47.9] 1 181,479, 636 35.6 306
YARIVA + + 170, 638 13.8) 9 37,706, 204 1.4 221
3 | A o v & 131,155 10.6 3 68,517, 166 13.4 522
4 |\ 5 T & 104,019 8.4 2 88, 821,127 17.4 854
5 Y A Z B 98, 353 1.9 4 91,609, 971 10. 1 925
6 & N A H 28,135 2.3 6 36, 798, 634 .20 1,308
7 TJL—FI7)L—v 18, 547 1.5 9 3,964, 486 0.8 214
8 NLOOTHLIUD 15, 475 1.2, 8 4,565, 949 0.9 295
9 A 7y TN 11,880 1.0 12 2,484,736 0.5 209
10 = ;| | 11,180 0.9 M 2,931, 854 0.6 262
mi 94 27NL-v 1,781 0.6/ 7 9,078,170 1.0 653
12 'L E v 4,961 0.4 14 2,023,671 0.4 408
B A2 & 5 & 1,574 0.1 13 2,165, 940 0.4/ 1,376
14| & 3 & 3 842 0.1 10 3,902, 415 0.8/ 4,635
15 W 5 5 < 410 0.0/ 15 807, 840 0.2 1,970
16 O ) 236 0.0 17 384, 254 0.1 1,628
17 &3 &3 &t 195 0.0/ 16 943, 024 0.1 2,785
18 |9 &3 &9 10 0.0/ 18 14,256 0.0/ 1,426
T £ o # M B 8 32, 696 2.6 1 11,164,932 2.2 341
2 ZOMEFERTRR 6,816 0.6/ 2 4,454, 892 0.9 654
3 T o M B = 129 0.0/ 3 407,138 0.1 3,156

e = H 1,238,886 | 100.0 509, 826,301 100.0 412
(SO0, MIT&)

o ® B HE(Kg) HEO =2 & LR FHEME
T % © L 23, 231 50.3 | 1 2,767,251 20.5 119
2 S O H 8,396 18.2 2 2,269, 985 16.8 270
3 |2 A Iz » [ 938 20 4 242, 331 1.8 258
4 o I 3 o F 814 1.8/ 3 582, 005 4.3 715
9 O mIm 352 0.8/ 5 184, 054 1.4 523
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(BOR, MIT&)

e

o R < ME(Ke) HEOG SN & @ () THEME
6 AN e) & 3 128 0.3 7 717,333 0.6 604
1 % * K & 114 0.2 6 139, 557 1.0 1,224
8 | &R =1 & 38 0.1 8 53, 892 0.4 1,418
9 ¥ F £ W T A 15 0.0 9 33, 480 0.2, 2,232
0w F+F L W = ¥ 2 0.0/ 10 16, 632 0.1 8316
1 TofmIRRE 6, 907 15.0 1 3, 354, 156 24.8 486
2 T 0fmIH XE 2,197 6.1 2 2,496,176 18.5 892
3 % o MM I M 1,894 4.1 3 649, 858 4.8 343
4 ToOMEBRRRE 393 0.9 4 502, 135 3.7 1,218
5 T 0t EBRE X 174 0.4 5 156, 999 1.2 902

EW. mMImE 46,199 | 100.0 13,525,850 100.0 293
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